UNION BANK OF INDIA GLERKS EXAM

Exam Held On : 10-01-2010

REASONING

1. In a certalnjcode MAIN s written. | -

as ‘9364' and DEAR Is written as
‘8532, How is MEND: written in
that code ? o

1 flpah4s (1) uﬂﬂlﬁ&

- {3) 9838 211! (4) 9528

(5] None of these ¢ -+ '
mammmmmﬂmmmmw
written as BFSEFMHL. How is
TREATISE written in that code 7
(1) USFBDRHS
12) BFSUDRHS

{3) BFSUSHRD

(4) BDQSDRHS

(5] None of thess

r

3. The positions of how many digits

in the number 5314887 will re-
main unchanged if the digits are

rearranged- in ascending order

within the number ?

(1) None (2] One
(3) Two . {4) Three
(5) More than three

4. Among A, B, C, D and E each

having differeni amount of
money. C has more money than
only E. B has more money than
D but less than A. Who among
them has the highest amount of
ml:mr:j"r" L

(1)8 2A.

3D St
(4] Data inadequate

(5) None of these

B. Prakash walked 30 metres.to-
wards West, tock a left turn and
., wilked 20 metres. Husnintmk
a left turn and walked 30 metres.
He then took a right turn de
stopped. Towards which direction
waahnfa::lngwtmnheﬂq)ped?
-{1}South

{2) North

(3) East

(4) Data tnadequate '

{5) None of these

s+l Hiomrr

| Briglish
words can be made with the Jet-

+ - ters RTOU using each lettenonly
- opeein each word ? -

{1) None {2) One .

(3} Two - (4) Three

(5) Mépe'than three
If ‘P ‘deniotes - 'Q" deriotes '+,
'R denotes %" and "W -denotes '+'
" ttm-"'f C A s N TLT _l'-.

4R 12RIOPEW 4= 7

(yse @40

(3) 52 UL
(5) Natic of these
How rany such pairs of letters
are there in the word ENGULFED
each of which Nas as many' let-

ters between them in the word

a8 in the English alphabet ?
{1) None (2) One
IEIM [4) Three
(5) More than three - .
8. Which of the following is the
middle digit of the second high-

est number among the five three-
digit numbers given helow ?

5‘:2?3942&5-13&54
mai . @3
(3 2 4 4

5 5

10: In acertain m:lzla:w ‘green.

grass everywhere' is written as
‘dik pa sok’ and 'cow eals grass'
is written as ‘nok‘ta pa'. How ls
‘cow’ writ{en In thai code lan-
Ruage ?

(1) nok

[3) nok or ta
(4) Data inadequate
(5) Nane of these

{2 ta

' Diroctions (11~ 16} : Study the

following qrmnmmtﬂmﬁ;ﬂyund

answer the questions given below :*
DE_H‘HR_] @6 FREGKP2
BIZ*UQ4AWFS588B#4Z3

11. How many such consonants are
there in the above arrangement,
each of which is immediately fol-
. lowed by a number and not im-
mediately preceded by a number ?

14.

{(l1}None  (2)One

(3) Two (4) Three

(5] More than three

How many such numbers w

there in the above arrangemen:
each of which Is immediately |
ceded by a symbol and imme:i
ately followed by a consonant

(1) None {2) One

(3) Two " (4) Three

(5} More than three

How many such vowels are (hen
in the above arrangement, ¢
of which is immediately preced.:
by & number but not tmmediat:
followed by a number ?

(1) None {2} One

[3) Two (4] Three

(5} Four

If all ﬂm?;}rmbola are droppo
from the above arrangemen:
which'of the following will be (14

~ eleventh from the lefl cnd

18.

18,

(e (2)1

32 4B

(3) None of these

Four of the following five are alil:
in a certain way based on thei
positions In the above arrang-
ment and so form a group. Which
is the one that dees not helon;
to that group ?
(HKP®
(BI9EF

(5IR 1% _
Which of the following is th
elghth to the right of the tweny
eth from the right end of th
above arrangement ?

e - (2) %

38 4) A

[5) None of these

Directions (17 - 22} : [n cach

2)UQ w
(4)1B7

the questions below are given thre

statements followed by two conclusion:
numbered | and 1. You have Lo tak:
the given statements to be true even(

they seem to be at variance [rom com
monly known facts. Read all the con

Fclusions and ﬂ_len decide which of the



fiven conciuaions logically followsfrom | Direstiels (98~38) : Study the
the given statements diaregarding com- following informistion carefully and an-
monly known [acts: . swer the questions given below :
Give anawer (1) if goly Conclu- P.Q R.8 TV, Wand Z are
sion I follows, 3 : - sitting aroupd a circle facing the cen-
Give answer (3) if only Conclu- ter. R 1s gecond to the left of Z, who ia
ston I foliows.. : third to the left of P. T is third to the
Give answer (3) if either Cancly- | T8Nt of W who Is net an immediate
Give anawer {4) if neither Con- m‘t‘“;;‘f“ szmf'i“’““h 10 the
tlusion I nor I follows. ' 28 In . of the foll paire
| which ﬂ‘“llll ]
Give m!ﬂfbﬂhmu ﬂuﬂi“tmﬁ‘lﬂmﬂltﬁtﬁﬂm'
17. Statememts: _ gon? - ' :
Some trees are forests, () RV Bzv
Some forests are houges, BwWQ  4sP
Some houses are tents. (5) None of theae .
1. Some tenta are lorests. nations s the first person aitting
[l. Some houses are trees. Ei:twmﬂi;mdnnd !
15. Statememts : . persons ¢ '
All cards are boxes, (WTRV ~  (2IPST -
No bex 1s slate. ' gm wozv. -’
Some slates are tles. ringdequate :
Camclugions: 28. Who is second to the right of § 7
1. No alate Is card, - :;;; @y
Il. Some tiles are boxes. . L
19. Statements : o " (4) Dita inadequate
All artaws are sticks. ». gl;t-rhmmm.
oAy vednia gl 1) Thled 85 thi right
1. Somé boards are niners. . (2)Thigd tathe leit
; % pape (37 Pourth to g right
20. Statements:
" All ropea are tiles. _ (3) Second to the right
| o
Some tles are ha . ??uu,_wﬂfewntehftof.
All bangles are ns ap
- Some o ape. (0 Daa i
- S0me are ropes. (4) Data inadequate
11. Sgme nails are tiles. {5) None of these
2). Statements ; . B8 Who 180 the immediate right of |
Enmudmmnwm R " o .
All nights are stars. (1)-p AW
Al stars are clouds. %z v
Comcluslons: - {5} None of these
I. Some clouds are day. _ Divagtions (88-34) : In the fol-
1. Some stars are days, lowing questiops, .the symbols 6, %,
23, Btatemants : s *. §.and # are.used with the fotlowing
All bells are ] . m?h:;wuhw:
All} m'id“l- v mum i not smaller
o d"'l“l packete. | ‘P # Q' means P s not greater
L Some packeta are hasamers, 'PSQ means Pis neither smaller
11. Some dogs are bells. than norequal to Q.. -

2

P * Q' means F s neither preate

than nor ey m.,q; e

P i 'Plﬂ'llﬂﬂ"u:r Ereater
than nor smallerthan Q. .

Now In eath of the followhg uic-
tions assuming the given statement -
to be true, find which of the two 1o
clusions [ apyd Below then is

G:l‘l‘ﬂ sagwer {3 I only Coel
#ion | is true.

Give anpwer (3} if only Coniin
sion [ is true. )

Oive anpwer (3) if either Conglu
slon L or II s true,

Glve pnwwer (#) H neither Con
clusion | nor 11 Is true.qs .,

- Give amswer (8] If both Concly
-ions [ and II are true,
28, Btatements:
H%R RVEK KSB
Conchasions: . B &R
’ Il K& X
30, m
" N%F F#H HaU
Conclusions:[. USF
i H% N

_ $1. Btatemneats:

K8R REW war
Enndml I T%R
. Kew
3. Statements :
E*T TSM M3J
Concloslons: ! J& K
T J kT
3. Statomants :
D#¥RREM, MEB
Concloslong ;[ MED
"l MSD

M. Btatemeats :

BEV. VWM, M8J
Comslusigns:i. J vV
. MéB

Directious'[ 38 - 40] : In each
question below is given a group of et
ters foligwed by fou combinations ol
digits/symbols numbered (1), (2}, 113
and {4]. You have'to find out which of
the four combinations correctly repre
sents the groups of ietters based on
the following coding system and (h:
conditions that follow and mark the
number of that combination as your an
swer. 1 none of the combinations cor
rectly represents the group of letters.
mark (5) i.e. None of these' as vouw
answer. '



il

changed. ik et
(1) If the fifat letted §4 & vowe] and
the [ast letter is a consonant, both
are to béeoded #s the code for
the vowel,
38. UPAMYE b

(11612983 (2} 321986
(1621986" * 14} 821083 .

(5) Ndie of these
38. JPERTH ' '
(11932488  (2) 023480
(3) 82348@ '[%}mm -
(5) None of these - .
37. IMPBEZ '

(No92s3e  (2) *mst .

)

(3) %92830  (4) ©9623¢
(5) None of these

38, JETWBH -
(1838780  (2) 038780
(3038785  (4) 538788
(5) None of these

39. KHAPYT '

(1)9%5125%  (2) ©6125%
(3042150 ' (4) 01256
(3) None of these
40. BPTRKA

(1) $284%1

(2) 128498

(3) 1284%1

(4) $284%8

(5) None of these

47.
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NUMERICAL ABILITY

Directions (81 - 78) : What
should come (n place of the question
mark (7] in the following questions ?
1,1 .2 11
—+4—=2=-1==7
6 2 3 12 :

Bl 3

1
|2]3'ﬁ

@1y Wi
(5) None of these
B2 414+23x7+36
7%+ (2% - 2%)

a3 22
35 14 4
5) None of these

7
miy

83, 444 +37 +15+11x(?) =7

(13 (2) 4
%2 45
{5) None of these
BA. 56.4 x 22.5- 232 + B = ?
(1) 1242 (2) 1422
[3) 1240 (4) 1268
{5) None of these
.". % 12?!&2&4-25-5“"“
(1}3 8
(35 49
{5} None of these
B8, 62620 -6262 +08286-62+8="7
(1) 56934 {2) 56404
(3) 546894 {4) 54664
(5} None of these
B7. (0.61* % (D.36F x (0.218) = [0.B)™
(112 {2} 14
(311 i4) 13
{5} None of these
58. 358% of 205 + 82% of 445 = 7
(1) 380 : 12} 388
(3) 346 (4} 381
(5) None of these

5O, 54.42 - 43.82 + 16.57 - 32.48
= ? '

S (24688 (2)2248
(¥ 29.58 (4) 26.68
(5) None of these
80. 37% of 248 — 27% of 310 = 7
(1) 8.60 (2) 7.08
(3 8.10 (4) 8.06 .
(%) None of these

BL 494 + 3B x[7) =832 +4
1118 {2) 15
(316 4)12
(5) None of these
€3, 27.831- 31.425+18.749-(7) = 12
(1) 3.255 12) 3.105
(3) 4.155 (4) 4.345
{5) None of these -
63, 18.5% of 320 + 7.4% of 450 = 7
1) 80.5 [2) 92 8
(3) B6.3 4] 98.8
5) None of these
&4. 13.013 - 22,104 + 62.903 -
9,048 = 7

(1) 44.744 (2} 42,764
(3) 4.724 (4] 44 764
{5) None of these
3 5 _4
68, 2:?‘: 5;*‘25—{?}— 4
1 P
4 3
g el
{3} 7 4 2?
(5] None of these

B8, 18% of 350 + 12% of 600 = ?
{1y 125 {21137
{3135 (4] 149
{5) None of these

7. (A% of 432 x 5 = 540
(145 225
334 - @30 ,
(5] None of'these

ﬂ- 13!‘.'1155 +1T#m=
mz {2) 49
36 (4] 36
(5] Nene of thess

3.9t sl 3.

ab. 3*42“2.1-14 7

m7y @y

3

1
13 31‘ (4} EE

{3) None of these
70. 143.94 + 36.78 - 71.63 = ?
(1) 1B.08  (2) 108.89
(3) 11 5.8 24 109.09
(5) None of these:
71. 4611- (18- 440 + (16F = 7

(114183 i 4003
{3} 4103 (4} 4193
(5) None of these

4

T2 4359-320x3 =214

T4

78,

(1) 3225
(3 3545

L
2] 3425
41 2545

{5) None of these

3 of 5 o
14 13
1) 240
(3] 260

['E FABDe =
?l','i. 29 =

{2) 280
{4) 254

(5 None of these

I 4 .4 3
IRy i To A S
B 9 7 5

1 q o l

(1 5 12 4 5
@5 4

{ PJE i4) 5

(5) None of these

L 21 W 2 - 4P T[T = 1

(1} 134 {2y 128

() 161 (4} 149

(5] None of these
IT the total cost of four tulw bel

and three

bulbs is Rs. 260 0

the ratio between the cos o
tube light and a bulh s 5

apectively,

what 18 the total

of one tube light and six Lu!

(1} Ry, 210

[3) R=. 180

(2} Rs. 130
(4] Es. 174

{5] None of these

Three-tenth of a number is
to 36% of another number 110
sum of these two niumbers -
then what ia the vajue o

smaller number 7
{1) 38 (2] 40
{3) 48 (4] 34

{5) None of these

The sum of the present apes
Ram, Shyam and Vijay
years, Also the sum of jooo
ages of Ram and Shyam I
years. What 18 the present [
Vijay?

(1) 30 years.

(2) 24 years

(3 lﬂj’eﬂ.l'ﬂl (4) 36 vours
(5) None of thege
. The

on &

ald nterest aci o

o s, 7,500 in 1

years in B 987. What would |
the rate of inferest p.c.;a.

54
fﬂllﬂ;— I
[5) 5%t

Yy
) s.4%



80. Schan apends 23%of an amount
of money on an insurance policy,
33% on feod, 19% on children's
education and 16% on recreation,
He deposits the remaining
amount of R8.504 in bank. How
much lotal amount did he spend
on food and Insurance policy to-
gether ?

{1 Re.3.200 (2) Rs.3,126
(3) R=.3,136  (4) Rs.3.048
{9} None of these

81. What leasl number should be
subtracted from 9889 to make it
a perfect square ?

(1) 84 [2) B8
(3) 108 (4) 74
[5) None of these

82. In how many dilferent ways can

the letters of word 'POWERS' be

arranged ?
(1] 640 (2] 720
[3) 1440 (41 360

15) None of these
B3. Five-ninth of slxty two percent of
a number is equal to 2790, What

is the number 7
i1 8100 (2) 7200
[3) 6300 (4) 8500

[3) None of these

84. The difference between the cir-
rumferences of two circles s 132
vms. and the radius of smaller
circle 14 cms, What is the radius
of larger elrcle ?

(1) l4cms.  (2) 21 cma,
(3 30 cma,  (4) 42 cms.
(5} None of these

85. 1 atest, minimum passing per-
centage for reserved and unre-
served category 1s 408 and 54%
respeclively. A Cﬂ.nd.ld._?l'.t from
unreserved category secured 300
marks and falled by 24 marka.
What are the minlmum passing
marks of reserved category in

that test ?

(11280 ' - (2)'254

13) 230 {4) 2a0

15) Nnneofl.hm: "

Directions [ T B8, What
hould come In pl on mark

(7} In the following gerjes ?
86, 313.5466%31 1()3!?]

126 [2—] !qumr
13) 133 [411;& 2

i5) None of lh_:;lpm a1

#,

B7.7 14 25 38 B5 74 (7

(1} 97 [2)99

(3 107 {4) 113

{3] None of these .
88. 9 73 105 121 120 (M 135

(113 {2) 131

3) 133 (4) 134

(5) None of these

80, If a certain sum of money s dis-
tributed among 43 people, each
one gets Rs. 221 and Rs. 83 ia
left. What is the total amount 7
{1} Rs.9,480
(2} Ra.9.588
(3) Rs.9,408
(4} Rs.8,648
{5) None of these

80. Qut ~ of the

£13153

4
11°23'29'7 and jgwhichis
the third lowest fraction ?

6
M7 I'-’J‘ﬁ

fractlons

15 3
B 29 4) 7

4.
(3 13 |
91. The salary of an cmployee of a

company increases every month

by 4%. If his salary in August was
Rs.6,300, what will be his ap-

proximate salary in month of
October of the same year ?

(1} Rs.6,552 (2] Rs.6,967
(3) Rs.6,814 (4) Rs.6,627
(5) Rs.6,933

82. What will come In place of both
:hcquummmmmmt-
lowing equation 7

@ 16
108 (7) ;
mis e
(3) 12 (4) 24
[5) None of these

83. 1f{9)* i subiracted from a square

of a number, the value so ob-
tained is 544, What s the num-
ber ? '

ma2s . (226
@2 @
(5) None of these -

84. The ratio of angles of a triangle is
3 :5.: 7, What is the difference
between double the smallest
angle and half of the targt'sl

- angle?

()25 (2) 36
{3) 38 (4) 30
{5 None of these

98. The ratio between the length and
the breadth of a rectangle is
4 : 3 respectively. Also its perim-
eteris 112 cms. What is the area
of a rectangle ?
(1) 748 8q. cms.
(2) 768 8q. cms.
(3) 680 aq. cms.
(4) 840 3q. cmas.
{5) None of these

98. What approximate value should
come in place of the question

mark [P in the folh:mng ques-
tons ?
9 4
3 13 + ‘l:'f =7
)8 2) 10
36 {4) 13
53 T
97. 3968 + 28 x (6] ¥ 410 = 7
(1) 5800 (2) 500
(3] 5400 (4) 5600
(5) 8100
88, Three men or eight boys can do
a piece of work tn 17 days. How
many days will two men and six
boya together take to finish the
same wark ?
(l)9days  (2) 11 days
(3) 14 days  (4) 12 days
(5) Nene of these

99. The cost price of an Item is two-
third of its selling price. What is
the gain/loss percent c-n that
{tem ?

(1) 45 (2) 50
(3 35 (4] 54
{5) None of these

100. The ratio between the present
ages of Dheeraj and Raman is
2: 3 respectively. Four years ago,
the ratlo between their ages was
5 : 8 respectively. What will be
Dheeraj's age after 7 years ?
(1) 20 years {2} 35 years
(3} 31 years (4} 33 years
{5) 41 years '



GENERAL AWARENESS

101. Which of the following is the cur-
rency of Dubai ?

[1) Taka (2] Dinar
(3) Dollar {4) Dirham
(5) None of these _

102. Right to Education Bill has been
passed by the Pariament. The bill
was introduced to help which of
the lollowing groups of society ?
(1) College going teenagers
(2) Those who are Interested in

technical education .

{3) Female students studying Sr.

Secondary level
(4) Children upto the age of 14
years
(5] All adults who could not get
formal education
103. A special Summit of which of the

following orgatizations was held
in Pittsburgh, to workout a for-

mula to maintain stability in eco-
nomic growth in all thebig coun-
triea: ?

(1G-8

(3)G-20
(5) NATO
Which of the following schemes

2) G-15
(4) WTO

was launched to provide cooked -

fooll to school going children in
India so that they are motivated
to come to school regularly ?
(1) Right to Education
(2) Food for work scheme
(3] Mid Day Meal Scheme
(4) Annapurna Scheme
(5) None of these

108. The outlay for which of the fol-
lowing games to be hield in Delhi
In 2010 has Increased to
R5.3,472 crore 7
(1) Olympics (2) SAARC (Games)
(3) IPL Cricket
(4) Para Olyinpic Games
(5) Common Wealth Games

108. What is the amount that has been
given in the year 2008-10 {In ad-

dition to usual outlay) to improve
++ -the higher education in Indta 7

(1) Rs. 500 crore
{2) Rs. 750 ‘crare
{3) Rs. 1000 crore
(4) Rs, 1,500 crore
(5) Rs. 2,000 crore

107. How much percentage of the to-
tal time deposits of the Banks is
locked as Statutory Liquidity Re-

- serve (SLR}?
(1) 10% 2) 15%
(3r20% (4] 25%
(8) None of thess

108, Which of the following terms is

NOT associated with the phenom-
- enon of Global Warming ?

(1) Ozone Depletion

(2) CO, Emission

(3] Green House Effect

(4} El Nino effect

~ (5ySubprime Crisls

108. Who amongst the following pre-
sented the Raftway Budget 2008-
10 in parliament after general
elections ?

(1) Shri Pranab Mukherjee
{2) Ms. Mamta Banerjee
{3) Shri Lalu Prasad Yadav
(4) Shrl Manmohan Singh
(5] None of these

110. As per the Union Budget 2009-
‘10 the Income upto which of the
following limits is exempted from
Income Tax for all categories of
the people ? '
(1) Rs.18,000
(2) Rs.30,000
{3) Ras. 1,60,000
(4) Rs.2,40,000
{5) Rs.5 lakhs

111. As per the review
of the RBI's Annual Policy the
Wholesale Price Index at the end
of March 2010 is likely to stay at
the levelof .

(1) 5% (2) 5.5%
{3) 6% {4) 6.5%
™

113. Which of the following s a
method of irrigation In India ?
(1) Canopy
(2) Grazing
(3) Contouy Farming
(4] Desalination

~ (5)Sprinkler

113. Which of the following states can-
not be called & silk producing
atate®y ot o
(1) Telimil Neldhnd -

" |2) Karnataka
{3) Andhra Pradesh
(4) West Bengal
(6) Himachal Pradesh

114. Which of the fﬂllﬂwing s eI

was launched to promote expo:

of agricultural produce and th

value added products in Indi

(1) Vishesh Krishi and Gro

Udyog Yolana

(2) Financial Inclusion Schem:

(3) Rastriya Krishi Vikas Yoja:

(4) Van Upaj Yojana

(5) None of these

Which of the following ceni:

taxes has now been withdrawn

(1) Value Added Tax

(2) Commedity Transaction Tiix

{3) Gift Tax

(4] Corporate Tax

{8) All of the above

118. As per current guldelines whi
is the stake that Foreign cnitiiz o
can hold (without prior pern
sion) In the Industrial unil
manufacturing items reserved o
the small and medium sectors i
Indla ?
(1) 15% (2) 200
(3) 24% (4) 33%
(5} None of these

117. The Govt. of India has decici
to butld a 84 km. historic road |
which of the following state:
tracing the path once taken |
Emperor Akbar ?
(1) Delhi (2) Uttar Prades
(3) Bihar (4] Gujaral
(5) Jammu & Kashmir

118. The Yashpal Panel submitted ii=
report to the HRD Mindstry & feo
months back. This panel was st
up to review and suggesi Im
provement in which of the follow
Ing ?
(1) Higher Education
{ﬂl.buminntm Pattern in Chst

118.

(3] Basic Education
{4) Pay Scales of the faculiy
lIMs & [ITa
(5) Adult-Education
119. Which of the following sector -
has shown clear signs of reviv.!
in lll-'lélé'lths and has grown
att te'of 5.8% during Api |
(2) Energy Sector
(3) Indtusthy Sector
{4) Servicd Sector
{5) All of these' -



120. Whois the author of the book ti-

tled ‘The Miracle of Democracy' ?

(1) Mathew Mhalke -

(2} Amaratya Sen

(3) Chetan Bhagat

{4) T.S. Krishnamurthy

(5) Nome of these

As per the nstructions given by

the RBI, now all banka are re-

quired to provide which of the

followlng in all its branches man.

datorily ?

{1} Note Sorting Machines

{2) Speclal Counters for Senior
Cltzeris

(3) Special Counters for Women
Customera

(4] Service sector

(5) Al of these

Most of the Thermal power sta-

tions in India stlll use which of

the following as one of their im-

portant Inputs 1o generate

power ?

(1) Sea Water

(2) Coal

(3) Heavy Water

(4) Natural Gas

(8] None of theas

Which of the following

Orgariisations is NOT assoclated

with the financial /banking sec-

tor In [ndla ? -

(1) NABARD  {2) BSE

3 ISRO (4) ECGC.

(5 SEBI g

Under 'One \’llln.gf,- oné product’

scheme launched in North East

stales, plantation of whith of the

following is being promoted as an
{naugural produr."l"fnl' the
scheme ?

(1] Lemon {2) Banana

{3) Apple {4) Orange ' -
{5) None of these :

121.

122,

lul

124,

128, As we all know Gowt. of India has”
established an Unique Identtfica-

tion Authortty of India, The au-
thority will launih lteypildt project
in the MWM&IE.-“

(1) Rt ol
ujmqmmiiuh

(3) Utlar Pradiesh,
Hidaum&linﬂmﬂrm

(5} West Bengal: =~ 3

126, mammnm
written by Vikram Seth ?
(1) The Other aide of Midnight
(2) The Bliad Assasain
13) A Rainbow Last Night
{4) The Golden Gate
() None of these :
137, Mpﬂﬂwmmm
no discharged . \will be
ﬂwnhtnth;mﬂ'tﬁ'lmlﬂl‘_
(H2010 . (23012
(92018 (42020
(5)022
138 mﬂhﬁﬂlﬁfmmﬁu
is helping India tr the canstryc-
tion; of w Power stations
. acroes the cﬁ;m.byhm;w?
(1) UsA (2) Gérmany

mie - @ns
19) 134

131

the general slectian in the coun-
try. What Is thn ﬁ:!l form of
EVM? -

(1} Election Validation Machine
{2} Electroriic Voting Machine
talﬂlm:h\’lmm

[4]Bdrhr\'oth:ghhvﬁmnt
{8) None of these

:m. Six Non member countries
namely Ching Japan, India,
South Knﬂmw New
Zealand were Invited to
attend which .of the
mmhmmm

. Tl'lﬂﬂlml? il

() NATO - /" [S¥ERARC
(3) BRIC """"‘,' AR

(SIASEAN
139, The Asia P

; nT O
2009

i wWaa
published recently. As per this |

teport which of the following
countries of the Asia Pacific re-
gion ia the wealthiest 7
(1)Japan . {2)China

(3) India (4) Australia

(5] Nonie of thess

134. Many times we hear about GM
food. What (s full form of the term
aM?

+ [1) Globally Maristed
(2} Genetically Modified
{3} Greenwich Method
(4) Groesly Mineralled
(5) Nome of thepe -

188, Omar Abcullah the Chief Minis-
terof Jammu & Kashmir is from
which of the following political
parties ?

[3) Commundst Party of India

(4) Bahujan Sama) Party
tﬂlﬂmedthue

. M%kbuflhcﬁuﬂmmmah

NOT used in the fleld of Banking
& Flnance ?
(1) Over draft
(3] RTGS [
(%) Retall

. World's top leaders were as-

sembled in Copenhagen in De-
cember 2000 for a meet on Cli-

mate change. Copenhagen s in
. which of the following countries 7

(1) Usa (2) France
[3) Denmark  (4) Germany
(5} Haly
138. Which of the following cups/tro-
- phies i assoclated with the game
of Footbal] ?
(1) Irand Cup
' [2) Subrato Cup
(3) Agha Khan Cup
(4) Wimbledan Cup
{5 Rangaswamil Cup
‘198 India has recently signed an
agreement with which of thie fol-
lewing countries of the Indian
subcantinent ?
(1) Myanmar  [2) Bangladesh
(3) Pakistan = (4) Bhutan |
{3) Nepal -
140, Late Y. 8. Rajasekhara Reddy
who died In an lurmmhap was
the Chief Mintsier of

{1) Karnataka
(2) Andhra Pradesh

Base Line
GBC



(3) Tamil Nadu

{4) Kerala

(5] None of these

As per the new Foreign Trade

Policy the annual growth of ex-

part should increase by which of

the following levels by 2011 ?

(110%  (2)15%

{3) 12% (4) 25%

(5] None of these

142, As per newspaper reports
Mahindra Satyam secured big

contract from MENA countries,
What is full form of MENA %

(1) Middle East & North Africa

(2) Members of Egypt and Nor-
weglan Association

(3) Member of Ecofriendly Nation's
Alllance

141

{4) Member of Ecological & Natu-
ral Agency
(5] None of these
143. Who amongst the following min-

isters of the Gowvt. of India re- -

cently visited Bhutan ?

(1) Shri 5. M. Krishna

{2) Ms. Mamta Banerjee

{3) Shri Pranab Mukherjee

(4) Shri P. Chidambaram

{5) None of thess

Govt. of India is planning to

amendArticle 243(D} of the [n-

dian Constitution. This article

deals with which of the following

areas ?

(1) Primary Education

(2) Rural Employment Guarantee
Act

{3) Panchayati Raj System
{4) Reservation for Women (n the
Parliament

(5} None of these

148. The Winner of the Best Feature
Film - Award, winner film
‘Kanchivaram' is a film made in -
(1) Hindi (2) Malyalam
(3} Tamil (4) Kannada
(5} None of these

148. Who amongst the was
the Prime Minister of Japan im-
mediately prior to Yukio
Hatoyama, who took over in Sep-
tember 2000 7
(1) TaroAso  (2) Shinzo Abe
(3) Yasuo Fukuda .
{4) Junichiro Kolzymi
(5) None of these

144.

147, Rupesh Kumar and Sanave Tho-
mas were the two persons who
represented Indla at the ___
(1) World Badminton Champion-
ship

{2) Third Astan Carrom Champi-
onship

(3) Aslan Age Group Swimming
Championship

4 “&Hﬁthmmmnmmhlp

. (5 NWanlan.d Grand Prix 2009
lclB. The present National Health
Palicy was revised in which of the
following years 7
(1) 2002 (2) 2003
.13) 2005 (4} 2007
(5] None of these
140, Indian Community Welfare Fund
was established In many coun-
tries with which of the following
budget for initial support ?
(1) Rs. 200 lakhs
(2) Rs. 300 lakhs
(3) Rs. 480 lakhs
(4) Rs. 580 lakhs
15] None of these
180. Ramon Magsaysay Award 2009
has been awarded to Deep Joshi
for his contribution in the fleld of

(1) Rural Development
(2) Literature

{3) Soclal Service

(4) Music

(5) Sports : :
ENGLISH LANGUAGE
Directions (181~ 188) : In each
question below a sentence with four
words printed in ‘bold type Is given.
These are numbered as (1), (2), (3), and
(4 ). One of these four boldly printed
words may be either wmongly spelt or
inappropriate-in the context of the
sentence. Find out the word which is
wrongly spelt or inappropriate, if any.
The number of that word is your an-
swer. If all the boldly printed words
are correctly _ma}h and also appropri-
atein the
(8) L.e. 'All | B8 yOUr answer,
181, In such circumstanses (1)/ do
' not take (2)/risks
(3}/ with your savings.(4)/ All
correct (5)

the sentence, mark -

182, RBI is unwilling (1)/ to enforce
(2)/ these regulations as (hes
will discourage (3}, investmen:
(4)/ All correct [5)

183, Many Indlan firms have entry
{1)/ into partoership (21/ witl:
forelgn (3)/ ones of late. (4)/ A/l
correct (G) -

184. Thisis a prime (1)/ example 2}
of what the government ran
achieve (31/ if it is determine.
(4)f All correct (5)

188. They managed (1)/ to accom-
Plice (2)/ this by coming (3] / ;)
with unique (4)/ schemes Al
correct [5)

Directions (186 - 170) : Reol
the following passage carefully :nd
answer the questions given below ii
Certain words have been printed i1
bold to help you locate them while an
swering some of the questions,

Rajendra was a landlord. He hail
made a lot of money by cheaing and
ill-treating his labourers who worke:
In the fields. One day, a young mas
named Manl came to Rajendra. asking
for work. Rajendra was pleasantly
surprised. No one had ever wanted to
work for him because of his repuia
tion, and here was someone walking
right into his house | Mani's next few
words surprised him even more. Mani
sald, "I will work for you for free. Onl,
give me a place o sleep, two sels ol
clothes and two square meals a day
Rajendra was beside himself with ji
when he heard this and was about 1
agree, when Mani added, "I have only
one condition: [ will tell you the trul

| always, but one day in the year | wil
e

Rajepdra, who lied happily ¢ver
duyal'ﬂle:,r:ar. agreed (o this odd co
dition. So Mani began working for hm
He was a wonderful worker -hard
working and trustworthy. He was very
honest and soon became Rajentra’s
right-hand man. Because of Mani's had
work, Rajendra had an excellent har
vest. He and his wife, Manda, derided
to have a big feast to celebrate. The
invited all.their. relatives and friends
from the village and outside as well
Everyone was looking forward to the
delicious feast be g planned. On the
morning of the feast, Rajendra decitle!
he would also give away some gifts (0
his relatives, Justth shoW bl So I
set off for the market in his ehrt.



As soon as he was oul of sight,
Mani went running to Manda. He wept
loudly and beat his chest. Then he fell
un the floor, sobbing and announced,
“The master is dead! The cart over-
turned on the road. Our master has
been Nattened like a chapatti I* As soon
#s Rajendra’s wife and relatives heard
this, they started wailing. Mani rushed
out. saying he would bring back the
body, while everyone started prepar-
ing for the last rites. Mani now went
running to his master and said, “Mas-
ter! Your wife is dead, A cobra bit her
and she fell to the ground, as blue as
the spring sky.” Rajendra was stunned.
Whall His beloved Manda, his partner
in all his schemes, was dead! He hur-
ried home shouting her name,

Manda too was weeping loudly,
sitting in the courtyard. When she saw
her husband run in, she stopped mid-
wall, and Rajendra too stood open
mouthed. Then they fell into each other's
Arms, unable to belleve their eyes.

As one, they turned to Mani.
"What is the meaning of this, Mani ?
his master angrily demanded. Manj
smiled. “Remember my condition, that
I would lie once in the year ? Well, [
chose today. You see what lies can do?
Nowlhhlkwhathnppemmtheptﬂple
whmn}rnulluwmtwda}rafﬂmyw
I” Saying this, he walked out, leaving
behind a stunned and ashamed land.
lord,

186, Why did Mani want to work for

Rajendra ? :

(1} Rajendra offered him food,

clothing and shelter.

{2) To leam from Rajendra whe

was a successful business-
man.

(3) To earn his trust so he could

take over the business one |-

dﬂ}’. ’
(4) He wanted to show Rajendra
the error of his ways,
(5) Rajendra did not mind his bad
habit of telling ljes.
157. Why did Mand work very hard for
Rajendra ?
(1} He took pride in his work and
wanted to enaure a good har-
g ‘-’Eﬂf.. B

(2) He was grateful to Rajendra

~ for giving him a job,

(3 He knew Rajendca would
share the profit with his right
hand man. I

(4) He considered himself as part
of Rajendra’s family.

(5! He was an honest labourer,

188. What opinion did Rajendra’s

workers have of him 7

(1] He was generous for paying
them and providing for their
basic needs, '

(2} He was a cheat and he ex-
ploited them.

(3) He was a weak man who lis-
tened only to his wife.

{4) He waa unfair to his workers |

and paid each a different sal-
ary.
(5] None of these
180. Which of the Is TRUE
in the context of the passage ?

(2) Mant had many friends who
were cheated by Rajendra,

(3 Rajendra was a miser because |

despite wealthy he trav-
cied by cart

(4) Mani was clever and a good
actor '

[5) Manda was an excellent cook
and had prepared a delicious
feast.

180. What was Rajendra's immediate

reaction on hearing the news of

his wife's ‘death’ ?

(1) He panicked because his wife
was responaible for them be-
ing rich. .

(2] Heran home at once because
he doubted Manl's honesty,

(3) He was very upset and
rushed home at once,

(4) He wanted to make funeral
arrangements, .

(3 He went home to inform ev-
eryone that the feast was can-
celled.

Why did Mand e to Manda ?

(1) Out of réverige for not being
invited to the feant.

(2 To find out whether
Rajendra’s relatives cared
#bout him or his wealth.

{3} To help her realise how much
Rajendra meant to her.

(4) To delay the start of the feast
as his master had not yet ar-
rived.

(5) She was partner in all
Rajendra’s Schemes

9

163. Why did Rajendra shout at Manj
ane day ?

|A) Mani had lied to Rajendra and
his wife causing them to fight

(B} The feast had to be cancelled
because of Manl and Rajetulra
suffered huge losses.

(C) He had embarrassed his wili:
and him in front of their
friends and relatives.

(1) None

(2) Only [A]

(3) Only {A) and (B)

(4) Only (C)

(3) All (A), (B} and (C)

183. Which of the following can be said
about Manda ?

A) She trusted Mani more than
Rajendra.

(B) She had a good relationship
with her husband's relatives.

(C) She was dishonest

(1) None

{2) Only (C)
{3) Only (4) and (C)
(4) Only [B) and (C)
(5) All (A), (B) {Cl
184. Why did Rajendra accepl Mani's
conditlon ?
{1} He did not value honesty.
(2) He had no intention of letting
Man] fulfill i,
{3) He was an expert at detecting
when people lied.
(4) He knew how difficult it was
tostop lying.
(3) He predicted that Mani would
be an excellent worker.
188. Why did Rajendra go out on the
day of the feast 7
(1) He wanted to share his good
fortune with his relatives.

* (2) He took gifts for his relatives
who were not as well off as
he was.

(3) He wanted to boast about his
prosperity 10 his relatives.
14) To purchase graceries required
for the feast from the market
(5] He warnited to personally In-
vite his relatives who lived oul-
side the village.
Directions (1868-188) : Choose
the word or group of words which s
MOST SIMILAR in meaning (o the
word printed in bold as used in the
passage.



188. pleasantly

(1) extremely

(3 charming

{5) coolly
187, walling

(1) erying

(3} shouting

(5) grumbling
168. right

(1] sultable (2) legalty

(3) accurately (4) straigh

I5) immediately :

Directions (169--170) : Choose
the word or group of words which is
MOST OPPOBITE in meaning to the
word printed in bold as used In the
168. planned

(1} organised

[3) cancelled

(5} automatic
170, celsbrate

(1) nsult

(3} dishonour

(2) delightfustty
(4) friendly

(2) comilats
(4) tears

(2) deliberate
(4) trformal

(2} reject
{4) mourn
(3} infarnous. R
Directions (171 - 178) : Rear-
‘ange the following six sentences (A),
BJ. (C), (D), (E) and {F) in the proper
itquence 1o form a meaningful para-
raph; then answer the questions given
xclow them. .

(&) Belg generous by nature, the
king offered them, a meal and
treated them kindly,

{B) In appreciation the king ordered
& stew {0 be prepared for the
feast in honour of the farmer.

(C) The king welcomied them too and
placed before edch a bowl of wa-
ter saying, "This is the stew of
the hare!”

{9} Afewdayahtci‘.nkwpmptc
came to the court to be
neighbours of the mdnlnﬂng

(E) A poor farmer preésented a fine
hare to the king,

[F) Not long afterwards a large num-
ber of people appearéd at the
palace and introduced them-
selves as neighbours of the
farmer. :

Which of the following should be
the SECOND sentence after re-
arrangement ? .

(1A
(3 C
(5) F

171.

@ B
4 D

173, Which of the following should be
the LAST (BIXTH) sentence af-
ter rearrangement 7
(118, 2c
(3D 4 E
(B F

-[ 178. Which of the following should be

the FOURTH sentence after re-

arrangement ?

na

31c

B E :
174. Which of the following should be

the FIRST sentence after rear-

rangement 7

(1A

@3c

[HE
178. Which of the following should be

the THIRD sentence after rear-

rangement ?

{1)B

3o -

(51 F

Diroctions (176 - 180} : Which
of the phrases (11, (2), {3) and (4) given
below should replace the phrase given
In bald In the following sentence to
make it meaningful and ;
correct. If the sentence is correct as it

Is.and no ton I8 required, mark
fﬁlumm,

178. Banks charge differently rate of
Interest depending on the size of
theloan. " *

(1) difference in rate of interests

(2) differently what rate of inter-
d ﬂ '

{3) different rates of interest
(4) the different rate of interest
5) No correction required
177. It Is necessary that we take any
steps to reduce pollutions soon.
(1) we should take every
(2) we have taken no
(3} us to take any
(4) we take some
(5) No correction required
178. 1t is too early to say how the
Impact the new tax will have on
investors. .| - .
(1) what impact”
(2] that the tmpact
(3) how much impacts
(4) what are the impacts of
{5) No correction required

(2 B
4D

2B
4D

2c
4 E

10

178. Kindly ask his advice regardin;
the various health insurar.c ..
tles presently availahle.

(1} him to advise that

(2] regarding his agivice

(3} that he should advise

(4] about his advice

(5] No correction required

Unfortunately many of our 110

and cities do have more goo«

transportation syslems.

(1) have a good {2) not have poo !

(3} not have much good

{4) not having better

{3) No correction required

Directions (161-180) : kead 1

sentence to find out whether thers -,

any grammatical error or idiomati o

ror in it. The error, if any, will be

one part of the sentence, The numb
of that part is the answer. If there «

no error, the answer is (5. ffgnoee o

rors of punctuatlon; if any )

181. Rajiv haswon a prize of {1)/ 1w

millinn dollars which [2)/ hias

be shared (317 with all his 1ran
members, [4)/ Na crror (%)

I 'do not understand (117 abow

how the payment {2)/ was mal

without (3)/ the managers p

mission. (4)/ No error [5)

183, The company has (1)/ decided 1

sell half (2)/ of it shares [3)/ 1.1

Chinese firm. {4}/ No error (5

B}'D})ﬂﬂl‘lﬂﬂﬂmﬂl‘l}'{]]f’ branches

in such a (2)/ short time, (b

- haye (3)/ used the wrong str.u

egy. [4)/ No error (5)

During the interview [1}/ with th

General Managcr 121/ Tasked L

what ::halh:ngea [3)/ she wie

faced. (4)/ No error (5)

We have an acoount (1), with (h-

bank and 52},# fnd the statf much

{3)/ helpiul and knowledgeal;i:

(4)/ No error (5)

187, The acheme has been (1)/ imple
menied only in these (2)/ pant o
the cuunﬂ‘j' and the {3}/ Prin
Minister will vigit it shortly. (4],
No error (5)

188. Toda ‘ark dloser [1]/ 10 reach
ing dn”Agteetient (2)/ than we
were (3)/ a few months apo. (4);
Noerror (8] 7 .+

180. We have beeén (1)/ telling them 11
[2)/&epié: carefully but (3)/1hes
are ﬂwﬂ’m&ﬂng:'mg No e
ror (5 7 et

180.

1584,

l Bu‘l



190. There Is all sorts (1)/ of regula-
lions that have {2]/ to be met
before (3]/ we get a license. 41/
Wo error (5)

Directions (191-200) ; In the fol-
liwing passage there are blanks, each
ul which has been numbeared. Thess
numbers are printed below the pas-
sage and against each, five words are
suggested, one of which fita the blank
-ppropriately. Find out the appropri-
b word In each case.

For as long as I can remember |

have thought of mysell as a teacher
ried 1 st do even today. But in 19651
thecided to (181) my hand at business.
0 1 (192) my father to allow me to
f183) up & printing and packaging plant.
: (194} the project proposal and ap-
plied for 2 (19H9), Once it was approved
fwent (1946) the challenges of employ-
ing the right (187). My project was.
~uccessful and 1 (198) an attractive
profil. Becoming a rich businessman
(199) never my dream. It was just &
(200) of proving to myself and my family
that I could be a sutcess in business.
'his experience also gave me a lot of
sell confidence,

191. {1} use 12} altempt
(3} try (4) give
[5) show

182, (1) prevailed  (2) permitted
(3)appealed {4} offered
(5) persuaded -

193, (1) set (2} bt
(¥ ralse (4} atarud
[5] begin

194. () draft (2] extended
(3) prepared (4} thought
(5] formulate

195, {1] relief {2} lgan
{3) post {4} leave
15) job

198, (1} under (2) through
(3) ahead (4) for
[5) away

197. (1) prople (2) equipment
{31 knowledge  [4) behaviour
(5} role

198, (1) made (2] galn
(3) benefited  (4) obtain
(Blreap -, .

199. (1) stayed ;i j@} Aalfilled

(3 pursued .. |4} was
{5) had . it )
(1} direction (@) state
(3] certificate ~ (4) way
{5) proof

0],

COMPUTER KNOWLEDGE

201. The saftware tools that enable a
user to interact with a computer
for specific purposes are knpwn

am __
[1) Hardware
(2) Netwotked Software
{3) Shareware
{4) Applications
(5) None of these
. A ____shares hardware, aoft-

users.
(1} network

(2) protocol -

(3 hyperiink -

4) transmitter -

(5] None of these

ina -level programming
guage: howeves, thé human-read-
able; version of a program is
called -

(1) cache R (2} instruction set
(3] source code (4) word slze. -
(5) None of these
204. In word an efficlent
way to move the 3rd paragraph
to place it after the Sth paragraph
lo_____ ' : '
(1) copy and paste :
{2} copy, cut and paste
(3) cut, copy and paste
(4) cut and paste
(%) None of these
208. Which of the following is not a
function of the control unit 7
(1) Read matructions
mmm
I3) Interprgf {natractio
(4) Direct dpérafions
(5) None of thess ,
ms&mmfwmﬂﬂngn
mm&mm

(1) operating systém’
(2) databage
[mﬁmm ;
{4) data warghouse -

van |

11

ware, and data among authorized |

(3) software bug
(4) firmware program
(5) None of these

A08. Which of the fallowing is not true
gbout RAM ?

(1) RAM is & temporary storage
area

(2) RAM Is the same as hard disk
atorage

_ {3) RAM Is volatile -

{4) Information stored in RAM is
gone when you turn the com-
puter off

(5) None of these

200. The maln directory of a disk is
called the directory.

{1) root {2) sub

{3 folder {#) network

{5) None of these

310. The physical arrangement of ele-
ments on a page is referred (o as
adotument's —

(1} features  (2) format

(3 pagination  (4) grid

{5) None of these
=5UM(B! : BS) is an example of
[ P

() function (@)

(3) cell address [4) viilye

© (5) None of these '

212. Which of the following storage

. media provides sequential access
only?

{1} Floppy disk

{2) Magnetic disk

(3) Magnetic tape

(4) Optical disk

(8} Noneé of these

218, Compllers and translators are one

form of —
. {l}ROM R)RAM

(3) hard disk  (4) software

(5} None of these

214. Data representation is based on

the ____ humber system, which
uaes two numbers to represent
all data.

(1) binary {2) biometric
(%) bicentennial (4) byte
(5) None of these

The most common tnput devices
include e
{1] Monitor and keyboard
(2) Monitor and mouse

13) Mouse and kevboard

(4) Printer and mouse
(5} None of these

211

18



218. WWW means — -
(1) World Wide Wonder
~ (2] World Wide Wizard
{3) World Wide Web
(4) Wide World Web
(5] None of these .
217, Processing Is used when a large
mall-order company accumulates
‘orders and processes them to-
gether in one large set.
(1} Batch (2] Online
(3} Real-time  -(4) Group
(5) None of these
218. What is the difference between a
CD-ROM and a CD-RW 7
{1} They are the same-just two
different terms used by dif-
ferent manufacturers
(2) A CD-ROM can be written to
and a CD-RW cannot
(3) A CD-RW can be written to,
but a CD-ROM can only be
read from
{4) A CD-ROM holds more infor-
mation thana CD-RW
(5) None of these
219, Holding the mouse button down
while moving an abject or text is
known as —,
(1) mpving (2) dragging
(3) dropping (4} highlighting
(5) None of these '

220. A is a collection of data
that {s stored electronically as a
series of records In a table.

(1) spreadsheet
(2) presentation
. |3} database '
(4) web page
(5]} None of these
221. The primarily take(s) care nf the
behind-the-scenes detalls and
manage(s) the hardware.
(1) operating system %
(2) application software
(3] peripheral devices
(4) hard disk
15) None of these

322, A is a professionally de-

signed “empty” document that can

be adapted to the user's needs
(1} file _

(2} guide

(3) template

(4] user guide Me

{5) None of these

223, Agroupof Bbits Is knownasa —
(1) byte [2) kilobyte
(3) binary digit (4] megabit
I5) None of theas,

224. The hardware device commonly
referred to ag,the “brain’ of the

Il]ﬁ&ﬂ",q

{3] I:H'_] i LWL
{4) secondary storage
{5) None of these
228. What Is the intersection of a col-

umn and a row on a worksheet
called ?

(1) Colurmn (2) Value

(3} Addreas  (4) Cell

(5) None of these

—.* are often delivered to.a PC
through an emclil attachment and
.are often designed te do harm.
(1) Viruses = (2)Spam

(3} Portals

(4) Email messages

{3) None of theae

227. What Is the storage area for email

measages called ?
 {1}Afolder  (2) A directory

(3) Amailbox * (4) The hard disk
(5] None of these

228. A desktop computer is also
kngwnasa—
(1) Palm Pllat  (2) PC
(3)laptop * (4) mainframe
(5] None of these

229. When a file contains instructions
that can be carrled out by the

computer, it is often called a(n}
— file,

(1) data {2) information
-(3) executable (4] application
(6] None of these

$90. Documents converted to ____
can be published 1o the Web.
(1} a .doc file
(2) http
(3) machine language
(4] HTML

. [51 None of these

231. If a user needs information in-

stantly available to the CPU it
should be stored —

(HonacCD

(2) In secondary storage
(3} in the CPU
{4) in RAM

{5) None of these

. data Input

228,

12

232. Towhat temparary area can v
store text and other daw
laterpaaieﬂmmm another [
tdon? w4y
(1) The clipboard
(2) ROM (3] CD=ROM
(4) The har disk
(5) Mone of these
233. In a spreadshert. a
number you will use in a o
ton
(1} label (2) cell
{3} fetd (4] value
{3) Nome of these
Z234. Click check box ol
sltion in a slide group of an .0
mation tab Hyou want wmoee
slide automatically aft=r -1i)»
lated Ume,
(1) Transition timer
(2) Automatically after
(W Transition after
(4} Automatic Hmer
{5) None of these

. Allof the: followings ave Lo
in removable media Excepi-
(1}CD-ROMs  {2) Diskett
{31 DVDs
(4} Hard Disk Drive
{5] None of these

238. If you do not want to select
option after opening a menu th
click menu title again or e
key_ toclose the moen
(1) Shilt [2) Tub
(3) Escape (4) K1
{5) None of these

» It is easier to change the noune

flle using _____ provess.

(1) Transforming

{2) Christening [3] Renaminy,

14] Rﬂagging [5} Mone of the .

view shows how
contents on printed page will

pear with margin, header o

footer.

(1) Draft

(2) Full Sereen Reading

(2} Outline (4] Page Lavno

(5) None of these
239. We can enter and edit the e
efficiently using —
(1) Spreadsheet
(2} Typewriter
[3) Word Processing Progiaen
(4) Desktop Publishing Proen i
(5) None of these



240,

241.

242,

244.

45.

248,

. may be included in
ather folder while making
heirarchical structure folder,

(1) Minifolder - (&) Tered folder

(3] Sub-falder (4) Object

i5) Mone of these

The background of any Word

docuiest v !

(1} i= alwaysof white colour

(2] is the colour present under
the option menu

[3) is always the‘same for the
entire document

t4) can have any colour you
choose

(5} None of these

Only_ programis) becomes)

active even though we can open

many programs at a time.

[1) four (2] three

{3) two (4) one

[5) None of these

When the margins on both sides

are straight and equal, then there

is . In document,

(1) full justification

{2) full alignment

(3) left justification

(4] right justification

(3] None of these

All of the followings are included

in typleal computer programming

language which are in use cur-
rently Except

(1) C* (2) Java

(3] Visual Basic NET

(4) Machine language

(5) None of these

What happens when you press

Ctrl + V Key ?

(11 A Capital V letter Is typed into
your document at the cursor
point

[2) The selected item Is pasted
from the clipboard

(3] The selected item is pasted to
the clipboard

(4] The selected drawing objects
are distributed vertically on
the page

[5] None of these

Which of the following places the

commen data elements in order

trom smallest to largest 7

(1} Character, file record, field,
database

(2) Character, record, field, file,
database

(3) Character, field, record, file,

e 68. (4) 70. 4| 71.(3 72. (5

[4) Bit, byte, character, record, _73. (5)] 74.(1}| 78.(2)| 76.()
fleid, file, database 77.(2)| 78.(1)| 783 80.(3

(5) None of these 8L (2| 82,2 83 ()| 8415 |
“ Eﬁmﬁt{;ﬁ‘ﬁ?ﬂ 85.(4)| 86.(4)| 87.(1)| s8. (3 |
puter holds the data in____ 80.(2)| 80.(3)| 81.(3)| 2.3

(1) Restore M ) Backup drive | [~go~ %] 98.0] 961 |
:;;ﬂ‘::“:f’dm:] i 97.2)| 98.14)| 99.2)[ 100, (3
248. How will 'Wurda appear on the 'El. (4)]102. (41 | 103. (3| 104. )
page 7 We call il as 108. (5)| 106. (5) | 107. (4) | 108. |5)

(1) Text formatting 108. (2)[110. (3 [ 111.(3) | 122. (3) |

\2) Character formatting | Fyg=er = 115.(2) | 118. (3 |

@ P“"“:?‘ (4) Type face 117. @) | 118. (1) | 119, (3| 120, (@)
2. © N““‘;dpt:’fc apturing row || 12k ®]122.2) | 123.(3)| 124. )
dammﬁmm;gmtgmr 136. (2)| 128. (4) | 127. (4) 12&._4_|I_|
system. 129, (4)| 190. (3) | 131. (2) | 132. (5]

(1) CPU 133. (2){134. (2) [ 138, (5) [ 1396. (1

g: }E;“m:::““" 197. (9] 138, ([ 198, 2] | 140. 2 |

(4) MQUIM 141. (2) 142. (1) { 143, (3] 144. (3

(5) None of these 148, (3)| 148. (1) | 147. 51 | 148. 1)
250. Title har, ribbon, status bar, views | | 148, (3)| 180. (3 lﬂl,t[l] 152. (5
mddmnumtwkapaccmfm- 163. (1) | 154. (4) | 185, 2| 186. )
g Of =2 PrOgam of | [T (2)] 156 4] 160. (3

(1) Windows {2) Browser 161 (5) 182. (1) | 183. (2) 134.[]]__

(3) Explorer  (4) Website 165. (3)( 188 (2) | 167. (1) | 168. (4)

(5) None of these 169. (3)) 170. (4) [ 171. 2) | 172. (2]
178, (1)|174. (5) [ 175. (3) | 178. ()

ANSWERS 177.4)| 178. (1) [ 179. (5) | 180. (2

L] 26| 83| a@||[181@]182 2] 188 3] 184, (4 |
—5,;2_; 63| 7.8 8.5 188. (4)| 188, (5) | 187. (2) | 188. [2}.
9.02)| 10.(3| 11.(9] 12,12 188. (5)| 180. (1) | 191. (3) | 192, (5]
13.0)] 14,1 18.(4)| 16.(5) | ||1€8.(1)]104. (3| 195.(2) | 196. (2
17.(4)| 18.(1)] 19.(3) 20, (2) 187.(1)| 198. (1) | 199. (4) | 200. {4)
21.(5)| 22.(5)| 28.(1)| 24. (3 ||]|201(4)|202.(1) | 2083, (3) | 204. |4
35.0)] 26.5) | 27.(1)| 28 | | |20 (4)]206.(4) 207 (1) 208. (2}
20.4)| 30.(1 | s1.(5)| 92 2 | || 2091 ’“"‘3: ";m Shalb
213, (4)| 314. (1) | 218, (3) | 218. (3)

2:?: ::_':3 :E :::: 217.(1)| 218, (3) | 219, )| 220. (3
0] 20| 00| s 220222 022 0)] 22419
o : 2285. (4)|2286. (1) | 227. (3) | 228. (2)
20 @0 a6 wbl e esig 232. 1
bl B VU TEYTE B oy e 235, (4)| 236 (3 |
DO} S| 882 8.0 || g alaee 29 240. (3
7.5 88.)| 8. ] 00 || Fogi oTaea oy T2aa (0] 2se. 0
61.(3)| 62.(5) | 63.(5)| 64.(4) 248. (2) 248, (3) [ 247, (9) 248. (1)

13



EXPLANATIONS
LIJMAIN DE AR
111l bl
9364 8532
Therefore,
M E N D
A |
9 5 4 8
210 REA M N G

B F § FMHL

Stmilarly,
TREATISE
+1 -—1
BFSUDTH'S

5 1 4 8 7
3.
[3]1 4 5|87 9

4.[21C>E. A>B>D
Now.A>B>D>CsE
8. (2)

30
— We

20m
U
=

= 30m

4. (3} Meaningful Words = TOUR,
ROUT

7.65/48Q 12R10PBEW4 ="
= 7=48+ 12 x10-868+4
=7=4dx10-8+4

n?-w-au-,

8. (5)

5 4 7 211286 5 4
ENGUL-.-FED

9. (2) Second Highest Number

preen [EFIRN] everywhere — dik [P sok
cow cats [N —» ok La[pa)

The code for ‘cow’ 1s ‘nok’ or 'ta’.
11. (4) [Njunbgr| Consonant | Number]

Such combinations are :

[%R1).[%P2] [Wr5]

13. 2 |3,',"l'l'lbﬂl Eﬂumbi:r I E.umnnnntl
There is only one such combina-

con : [G5F]
13, (3) [Number| Vowel | Rumatg

Such com_b:natlonu are

[se2] [4AW]

14. (1) According to question, the naw
. sequence would be : :

D!MRIIFIEKEFEITUQL&WFEEZ

11th from left

U."'_l).g..."_zj*
g +1 >E -2
+2

> F

R e '2:%

186. (5) 8th to the right of 20th from
the right meana 12th from the right
end, le., U,

(17-323):

{17-32):

) Al cards are boxes — Univer-
sal Affirmative (A-type).

[t) Some trees are forests — Par-
ticular Afirmative (I-type).

i) Mo box is slate - Universal
Negathee [E-type),

liv) . Some boxes are not slates —

. Particular Negative (O-type).

17. (4) All the three Premises are Par-
ticiular Affirmative (I-type). No Con-
clusion follows from the two Par-
tcular Premises.,

18. (1) All cards are boxes,

No is sliate.

A + E = E-type of Conclusion
“No card is slae.” :
Conchision 1 18 Converse of iL.

Mo box is slate.

i

Some slates are tlles.

14

1.

E * | = \JI'\.J'FL P AL Ll d ks e i
"Some Ules are nol boxes.”

(3) Some pApers: arearrow:.

All arrows are slicks.
I+ A= I-type of Qonclusion
"Some papers are sticks.”

Conclusions |l and 11 form Coigile
mentary Palr. Therefore, cither |
or 1l follows.

. [2) Some tiles are bangles

\

All bangles are nalls.

| + A = I-type of Concluslun
“Some tiles are nails.”
Conclusion II {s Converse of il

I5) Some days are nights.

\

All nights are stars.

1 + A= I-type of Conclusion
“Some days are stars.”
Conclusion 1 Is Converse ol i

All nights are stars.

\

All'atars are clouds.

A+ A= A-type of Conclusion
“All nights are clouds.”

Some daya are siars.

\

All stars are ¢clouds.
I+A=Ilype D'[CDII'IT_‘hl.‘ii:?[:
"Some days are clouds.”
Conclusion 1 is Converse of il

. (5] All bells are hammerz.

\

All hammers are dogs.

A+ A= A-type of Conclusion
“All bells are dogs”.
Conclusion IT is Converse ul i,

All hammers are dogs.

\

All dogs are packets,

A + A= A-type of Conclusion
“All hammers are packets’
Conelusion [ is Converse ul i1



(23-28) : Sitting arrangement

23. (1) R 1s sitting to the immediate
left of V.,

24. |3) W is sitting between P and Q.

25. (5) R is second to the right of S,

26. (5] 5 is second to the right of W.

27. (1] 5 is to the immediate left of T.

28.(2) W is to the immediate right of
Q

(28-34) :

#e g
§==

T f=>

iir——-}{

B Y HNYR=>H2R
R#K=RzK
KSB=KsB

Therefore, H> R<K> B
Conclusions

|, B*R=>B <R Not True
. KS H=>K>H: Not True

0. (N%BF=NsF
FEiH=F<H
H¥U=H=<U

Therefore, N2FsH< U
Conclusions

[ UBF=U>F: True

. H% N=>Hx N : Not True

dL B KSEM=3K>R
REW=R=W
W#T=WerT

Therefore, K>R=W < T
Conclusions

. T%R=TzR:True
ILKSW=K>W: True

P2 KET=K<T
TEM=T>M
Mid=M=J

Therefore, K<T>M=J
Conclusions

I J*K=J<K:Not True
I J*T=J<T: True

33, (3 DAR=D<R
RIM=R=M
MEB=M>B

n]El'Efm‘E.DstM:I-B
Conclusions

, 1. M5D=>M=D: Not True
1. M & D=+ M $D= Not True
Either 1 or II'#4 Hfue. |

MBBIV=B=V
ViM=V>M
MBJ=M>J

Therefore, B=VaM>J
Conclusions
. 3% V=J<V:True

N M#B=>M<B:True
M4 U A M

@

36. (5) J

&8

37.01) 1

-
B =N W e m

Y
!
5
T
)
8
E
i
3
cable.

BER T W e m—

{
8
R
i
4
B
1
8
appli

gtﬂi—gue—'ﬂui—"ﬂ

]
E

g
8o«
=
<—-u§mq-:::n<—rq
ﬂut—-u-qt—i
gp;qg-u;—'-qqi—m
F e=—r— o =T

w

=
— e o i B

40.(2) B

L

1 2 8
Condition (1) is applicable.

41. (4) From Problem Figure (1}to (2)
the two left designs and the two
right designs interchange positions
while the middle design is replaced
with a new design. From Problem
(2) to(3) the left most design moves
to the right most position, These
two steps are continued in the
subsequent figures alternately.

42. (1) The following changes occur in
the subsequent figures :

Mto(2 @00
[ o @ [ ]
¢2>".<:l dkfi-

R
l
4

@« >

15

(3) to (4)

4] 10 (5)
[ ]

L i- o 1\0 .
_l><:i .><:.

Therefore, from Problem Figure (5)

| to Answer Figure simifar changes

‘would occur as from Problem Figure

(1) to (2).

43. (2) From Problem Figure (1) to (2)
all the designe move one step in
anticlockwise direction. Simllar
changes would oceur from Prob-
lemn Figure (3) to (4) and from Prob-
lem Figure (5) to Answer Figure.

44. (3) In the subsequent figures re-
spectively one and two angle(s) is/
are deleted alternately and the
deleted angle(s) reappear{s) in the
next step

48. (1) In each subsequent figure one
circle is added and the pre-exist-
ing circles move in clockwise di-
rection.

The circles appear th the order

8@ 00
48. (3) The following changes ocour in
the subsequent figures :
(1) to (2) (2)t0(3)
. o| [o o =

wir [\

These two steps are repeated al-

ternately in the subsequent figures.

47. (5) From Problem Figure (1) to [2)
all the four designs move one step
in clockwise direction after being
inverted. Similar changes occur
from Problem Figure (3) to (4) and
from Problem Figure (5) to.Answer
Figure

48, (5) The following changes occur
" from Problem Figure (1) to (2).

T

ad
R
raZ

Sﬁ:;llnrchnnpa occur from Prob-

* lem Figure (3) to (4) and from Prob-
lem Figure (5) to Answer Figure,



48, (4) In the subsequent figures the | 57.(3) {0.6]" = (0.6)* x (0.6)=* x (0.6)° 15 5 g 7

star moves one step in =5 [0.6)" = (D.8)*+++ 3 = [D.g) 80 (4] 7= ._._5._..._;,(_
anticlockwise -direction, the #..le??'“w l 08 W ‘.i_..ﬂ 2" i
trajangle moves one step in clock- ' 1 2 0 7
wise direction while the circle 38x295 62x445 SV U
moves respectively half, one and | 88-12) 7= 57—+ 150 ‘4 65 2 4
-half, two and half, three and 1'1 97 7 8% 17 |
half...... steps in anticlockwise = 112.10 + 275.90 = 388 = LA LA
‘ditection, The fourth design isre- | 90. (1) ? =(B4.42~ 43.82 + 16.57 - 4 4 4 2 =
placed with a new design In each 32.40 = 24.68 70.(4) ?=143.94 + 3674 7 .
step and moves from left to right 37Tx248 27 = 109.09
. x310
:Letp:i:;mdfmﬁshttokﬂm 8.4 ?= o " 1oo 7L.(3) 7 = 4&13-324 440 4
80. (2) From Problem Figure (1) to(2) | = 91:76 ~83.7 = 8.06 = 4108
halfl line segment is deleted, from 494 '- 2156
Problem Figure (3) to (4) one and | 81, (3 Hxhi‘? 73.(5) 4359~ 960 = -
half ine segments are deleted and = 3390 = 154 + 7
hence two and half line segments |- = 13x7?=208 -
would be deleted from Problem ' 208 #?-3399—154=524'
Figure (5) to Answer Figure. = P= —=16" 3 5 6
BL(2) ?=(3+4-2-1)+ . . 13 73.05) ?'ﬁ”ﬁ";“f*” 2
| 1790 82. [5) 27.831-31.425 + 18,740 -7
=12 7 40 25 14
R T 74.(1) 7=
[ﬁ 2 3 12) = 15.155-7 = 12 m7=gxg 7
) 2+68-1] = 7= ]151585-12=3.155 ' Exﬂg T
=81 m[ﬂl?-lﬁ.ﬁxam+?.4x4ﬁn' =879 "2 &
100 130 21 18 3
Sa-_ gl - = 59.20 + 33.30 = 92.50 =533
12 12 64. (4 ?=13.013-22.104 + 62.903
.t - 9.048 70.(2] 21 x24-64 +49-7 - 1y
——xT7+36 = 44.7684 = 504 - B4 + 49 -7 = 0]
52.(1) 7= _ETW = 480 - ? = 361
) o ﬁ.u;. — %JEJ;“.; = ? =480 - 361 = 128
126 + 36 . 162 9 76.(4) Let the cost of a tube light .-
= ~20:5 ~ 83 11409 ," a bulb be Rs. 5x and Rs. 7. ;
- - 4 x?xﬁ- 4 spectively.
'_—‘444 o4 x8x+ 8% 2x= 260
B83.(3) —+15411x%? =7 45 : -
- ?-?.4 ! : = 280 E{.J i
"‘12**151-]1!?-49 . 26x = S Xm 26 {
=11x7=40-27=122 wra 3B L, 8-8 17 . Cost of 1 tube light and 6 bl
232 7 7 7 =5x+6x2x
=?=17=2 . = 17x=17x 10 = Rs 170
2% = 2; 77. (2) Let the numbers respectiv
B4.(3) 7=564x295- — ] be xand 88 - x.
: 8 8. (3 ? 13:35D+12xﬁﬂﬂ , 3 36
=1269-20=1240 TR TI00 100 175%™ 1op 88X
126 x 625 . =683+72=135
H\.[ﬂ] —-—25 -513‘? ?Kmnﬂ #IIE':BE_];]
87.(2) — = 540 5 :
3, 100
L x5t e : = 5x = 528 - fx
540 % 100 = 1lx=528
- P ———— =25
= BI+4-1 B3t -~ 432xB 528
=13-7=5 | 18x34 =x= T =48
E 2 .
=?-13-5=8 0.9 BFs—77 =% . Smaller number = 86 - 45
86. (1) 7 = 62626 - 6262 + 626 - 62 a0
+ 6 = 56034 =?= /36 =8

16



T8.11) Vijay s present age = 72 - 42
= 30 years .
T N T LT i

'i..-urfi.ln n.{j?u A
= 4 —

79.(3) A=F 300) ot

s engigelown an! fr poy3
.= TE'Dﬂrlr_-ﬂ'ifrﬂ gh"' m]
542?=[1+’R 2
=7 100
{n R Y 23{39_[53“
“1""100) " 2500 (30
[1.*.1]—-—5-5; e
= 100/ 50 "
LR .3
“ 00 50 80

BO. (3] Let the total amount be Rs, x.
- Savings’ per cent
=[100 - (23 + 33 + 19 + 16]%
= 9%
- 9% of x = 504

504 %100
9
. Expenditure on food and tnsur-

ance policy together
= 6% of 5600

[Eﬁ#ﬁﬁm
= Rﬂ. lm ]
= Re, 3136
Bl. (2) 99% = 9801
1007 = 10000
. D801 < 9889 < 10000
~ Required least number
= 9889 - 980] = 88,
82.(2) The word POWERS consists
of § distinct letters.
- Number of arrangements = 6!
=Bx5x4xIx2Tx1=720
83, (1) Let the number be x.
62

5
[ ¥ i =2
T }(_I XX 790

) 2790 x 9% 100
= X = "_——'—5:{62 = 810
84. (5] Let the radius of larger circle

he rem.
Soan(r-14) = 132

= 5600

= Xe

132x7

2x22
& r=21 + 14 = 35cm

88. (4) Let the maodmum marka be x.
o 549% of x = 300 + 24

x x Byt oL
— 4 a ey
= oo B

324 x100

=21

'r-l‘-

= 600

=2X=
- Required minimum marks

5 — = 0

100
88, (4) The pattern Is :
23+ 10=33"
33+ 13 = 46
46+ 16 =62
62+ 10 = 81
81 +22 = 103

iﬂ3+251
87. (1) The pattern is :

7+7=14

14 + 11 = 25

25+13=38

38 + 17 =55

55+19=74

74+23=[97]

L.e. Series is obtained by adding
consecutive prime numbers.
88, (3) The pattern Is :
B+64=73
73+ 32 =105
105 + 16 = 121
121 + 8 =129

129+4-'@

133 + 2 = 135
880, [2) Total amount -
= Ra. (221 x 43 + 83) = Re. 9586
90. (3) Decimal equivalent of each
fraction :

6 . .— 13

— =0545 ; — =0565
11 23 -

15 3

2 -052 ; Z=04
29 7043

4

= =031

13

carly. 1372511 23

17

R\
oL (3 &-F[“ﬁ]

4 2
-ﬁm [l+ﬁ]

26 126
-M“E“E-R&.EBM

82.(3) =108 x 16
=Py 3 g2
= 7T=2x3x2=12
88. (1) Let the number be x.
L -0% =544
= % =544 +B] = 625

= x= fa35=25

4. (4) Let the angles be 3x, 5x and
Tx

o 3x e Sx+Tx= 180
= 15x = 180
180
s =—=]2
=x=T
 Smallest angle = 3 x 12 = 36°
Largest angle = 7 ¥ 12 = 84*
*» Required difference
B4
BZIM— ?

=72 - 42 = 30°

88.(2) Let the length and breadth of

rectangle be 4x and 3xcm respec-
tively. :

S 2dx+ 3 =112

= ldx= 112

112
xm——=B8
Loxm
* Area of rectangle = 4x x 3x
=122 = {12 x 8 x 8 cm?
=768 cm?

61 63 32

B K —
8.0l 7= 3% 9t 7

“13 19 32

.01 2« 2 0,41

= 5100 + 410 = 5510

. Required answer = 5500
98, (4) 3 men = 8 boys

& 2men + 6 hoys

3
=2 men + ENE men



9 17
32_ m =
[+4]‘"‘“ 3 men

& Mlﬂl = Mﬂ.ug

7
=3 x 1?:%):!'3,

89, (2) Let the S.P. be Rs. x.

» CP Ranx
B "3

». Gain = x- %x =Rs, %
X
~ Galn permnt--ia—klmaﬁﬂ

E’X
100.{3} Let the present ages of
Dheeraj and Raman be 2xand 3x
years respectively.
Fotir years ago,

2x-4 B
3x-4 =E
= 16x- 38w 160=20 -
' -x-m-uaé-m i i'.r; M i
Dhecrq[upl.herhun
-ax-b 7. :
=2 % 12+ 7.5.3] years
101. (4) Taka
102.(4) Children upto the age of 14
years
103. (3] G-20
104. (3) Mid Day Meal Scheme - |
108, (5) Common Wealth Games
108. (5) Rs. 2,000 crore e
107.(4) 25%
108. (5) Subprime Crisis
109.(2) Ms. Mamta Banerjee
110.(3) Rs. 1,680,000 '
111.(3) 6%
112, (3] Contour Farming
113. {5) Himachal Pradesh
114.(1} Vishesh Krishi and Gram
Udyog Yojana
118, (2) Commodity Transaction Tax
114.(3) 24%
117.(2} Uttar Pradesh
118. (1) Higher Education
118. (3) Industry Sector

120. (4) TS, Keishnamurthy

121. (4) Service sector

122. (2) Coal

123. (3] ISRO

124. (2) Banana

128. (2) Andhra Pradesh

128. (4) The Golden Qate

127. (4) 2020 m, (1) USA
120.(4) USA "“130. {3) 134
131. (2) Electronic Votlng Machine
132.(5) ASEAN 133, (2] China
134, (2) Genetically Modified
138. (5) None of these

134. (4) GBC

137. (3) Denmark

138. (2) Subrato Cup

| 139. (2) Bangladesh

140, {2) Andhra Pradesh

141, (2) 15%

142. (1) Middle East & North Africa
143. (3) Shri Pranab Mukherjes
144. (3) Panchayati Raj System
148. (3) Tamil

148. (1) Taro Aso

147, (5) New Zealand Grand Prixm
148. (1) 2002

148, (3) Rs. 480 lakhs

- 100¢ Service
"I.Illll

unrutapdlhgh cir-
, cumstanoes.
183.(2) All correct

188.(1) The appropriate word should

be : entered,
184.(4) The appropriate word should
be : determined.

188.(2) The appropriate word should

- completing
lﬂ-ch wmudtnahuwan;,mdm
the error of his ways.

187; {5) He was an honest labourer

188, (2) He was a cheat and he ex-

plolted them,

| 189.(4) Mant was clever and a good

actor )

160. (1) He was very upset and rushed
home at once.

161.(5) She was partner in all

Rajendra's schemes -

'lu.mumm
'163.(2) Only (C)

164, (1) He did not value honesty.
188. (3) He wanted to boast about his
- prosperity to his relatives.
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186.(2) The meanlng of the word |0

antly’ (Adverh) as e o i
sage is : delightfully; jul
Look lh-h! sentence

Twas pleasantly surprised
exam results.

Hencg, the words pleasantly
ﬂd&ﬂhﬂ'ﬂ}ﬂunymf -

167.(1) The meaning of the wond wa

(Verblas used o U pose
to make a long loud higks o
cause you'are sad or in |
rmoan.

Look at the sentence

The little girl was wailing 11
ably.

Hence, the words wailing -
crying are synonymous

168.(4) The words rght snd straigs!

are Synonymas.

188.(3) The words planned il ea

celled are antonymous

170.(4) The word celebrate (Ve

means : to show that i i o
event is important by doing &
thing spectal on it.

Look at the sentence :
People celebrate New yo
fully,

The word moarn (Verb) m o
(grieve for ; to feel and show -
ness because someholy
died).

Look at the semtence :

He Is still mourning his vl
death.

Hence, the words celebrate .

IMOUrD are antonymous.
171.(2) B 172 2| C
173. {11 A 174. 5] E
178.(3) D

178.(3) Here: ‘different rates of i1

‘est' should be used. The woirl”
ferent’ Is an Adjective,

177.(4) We take some should be 1=

178.(1) ‘what impaet' should he 1

178.(5) No correction requirr

180.(2) 'not have good' should be 11+
Here, negative sense implic-

181.4) Group of words 'with .| |

team members' should be replu
h}r'ﬂlﬂﬂ]'lﬂ all his team membe:
Preposition ‘with' has wron.
been used here.

183.(2) Here, preposition ‘about’

perfluous,



lﬂjfﬂlmmﬁ of ‘com-
pany ‘should be ‘its' Henee of its
atweaahnuldhcusgi

184.(4) Th o definite thing.
ch&}%?d &Eﬁimw

188.(5) Noerror *

187.(2) Replace ' snted only in
these' by ‘img nited only in
this’, Here, singular sense is evi-
dent.

188.(2) The form of infinitive is : tg +V,

Hence, 'to reach an B.gru:mant
should be used.

188.[5) No error

180.(1) The word ‘Regulations’ is plu-
ral. Hence. ‘There are all sorts'
should be used.

191. (3) try 182. (5) pcﬂuadcd
193. (1] set 184. (3] prepared
185. (2 loan 198. (2) through
197.(1) people  198. (1) made .
199. (4) was 200. (4) way

#u1. 14) Applications
2302, (1) network

203. (3) source code
204. (4) cut and paste
208. (4) Direct operations
208. (4] data w
207.(1)

209. (1) root mmm

211. (2) formula

313, (3) Magnetic tape

313.(4)software  °

214. (1) binary _

218. (3) Mouse and keyboard

216.(3) World Wide Web

217.(1)Batch -

218.(3) A CD-RW cifl be written to,
::;&acu-mumwhmd

222.(3) template 233, (1) byte
324.(3)CPU ' 228 (9 Cell
228, (1) Viruses - 227, (3) A mailbox

228.(2) PC

220. (3) executable
230. (4) HTML

231. (2) In secondary storage
332. (1) The clipboard
233. (4) value

234.(2) after
238. (4) Hard Disk Drive
238, (3) Escape

337. (3) Renaming

238. (4) Page Layout.

239. (4) Desktop Publishing Program

| 240, (3) Sub-folder

241.(2) Is the colour present under the
option menu

2432.(2) three

243. (1) full justification

244, (4) Machine language :

248.(2) The selected item is pasted

. from the clipboard

248.(3) Character, fleld, record, file,

database

347 (4) Memory

248. (1) Text formatting
248, (3) Input device
230. (1) Windows
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